fischer-delay!!4°

fischer-delay{i:1,
$x:ut2,
$try:ut2,
$taken:ut2,
$contending:ut2,
$free:ut2,
$mine:ut2,
$wanted:ut2,
$z:ut2}
(es; del; L)
=qef Ve:es-E(es).
(loc(e) € L)
= (((Qe(mkid{$x:ut2} —mkid{$try:ut2}) v Qe(mkid{$x:ut2}—mkid{$taken:ut2}))
= (((es-when(es; mkid{$x:ut2}; e) = mkid{$free:ut2})
= (mkid{$x:ut2} unchanged-for del Q ¢))
A ((es-when(es; mkid{$x:ut2}; e) = mkid{$contending:ut2})
= (mkid{$x:ut2} unchanged-for 2 * del Q ¢))))
A (Qe(mkid{$x:ut2} —mkid{$mine:ut2}) = (mkid{$x:ut2} unchanged-for 2 % del Q ¢))
A (((((es-when(es; mkid{$x:ut2}; e) = mkid{$contending:ut2})
(mkid{$x:ut2} unchanged-for 2 % del Q ¢))
((es-when(es; mkid{$x:ut2}; e) = mkid{$free:ut2})
A (mkid{$x:ut2} unchanged-for del @ e)))
((Tes-isrcv(es; e))
cA ((es-tag(es; e) = mkid{$wanted:ut2})
A (FiId. ((i € L) A (es-Ink(es; e) = <i, loc(e), mkid{$z:ut2}>))))))
= Qe(mkid{$x:ut2}—mkid{$taken:ut2}))
A ((Tes-isrev(es; €))
((es-tag(es; €) = mkid{$free:ut2}) Vv (es-tag(es; e) = mkid{$wanted:ut2}))
(3i:1d
((i € L) A (—(i = loc(e))) A (es-Ink(es; e) = <i, loc(e), mkid{$z:ut2}>)))
= qless(es-time(es; e); (es-time(es; es-sender(es; e)) + del))))
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clarification:

fischer-delay{i:l,
$x:ut2,
$try:ut2,
$taken:ut2,
$contending:ut2,
$free:ut2,
$mine:ut2,
$wanted:ut2,



$z:ut2}
(es; del; L)
=qef Ve:es-E(es).
(es-loc(es; e) € L € 1d)
= (((es-change-to(es;Id;mkid{$x:ut2};e;mkid{$try:ut2})
V es-change-to(es;Id;mkid{$x:ut2};e;mkid{$taken:ut2}))
= (((es-when(es; mkid{$x:ut2}; e) = mkid{$free:ut2} € Id)
= unchanged-for{i:l}
(Id; id-deq; es; mkid{$x:ut2}; del; e))
A ((es-when(es; mkid{$x:ut2}; e) = mkid{$contending:ut2} € Id)
= unchanged-for{i:1}
(Id; id-deq; es; mkid{$x:ut2}; (2 * del); e))))
A (es-change-to(es;Id;mkid{$x:ut2};e;mkid{$mine:ut2})
= unchanged-for{i:l}
(Id; id-deq; es; mkid{$x:ut2}; (2 * del); €))
A (((((es-when(es; mkid{$x:ut2}; e) = mkid{$contending:ut2} € Id)
A unchanged-for{i:1}
(Id; id-deq; es; mkid{$x:ut2}; (2 * del); €))
V ((es-when(es; mkid{$x:ut2}; e) = mkid{$free:ut2} € Id)
A unchanged-for{i:1}
(Id; id-deq; es; mkid{$x:ut2}; del; e)))
(Tes-isrev(es; €))
A ((es-tag(es; e) = mkid{$wanted:ut2} € Id)
A (3i:1d
((i € L € 1d)
A (es-Ink(es; e) = <i, es-loc(es; €), mkid{$z:ut2}> € IdLnk))))))
= es-change-to(es;Id;mkid{$x:ut2};e;mkid{$taken:ut2}))
A ((Tes-isrcv(es; €))
= ((es-tag(es; ) = mkid{$free:ut2} € Id)
V (es-tag(es; e) = mkid{$wanted:ut2} € Id))
= (Ji:1d
((i € L €1d)
A (—(i = es-loc(es; €) € 1d))
A (es-lnk(es; e) = <i, es-loc(es; e), mkid{$z:ut2}> € IdLnk)))
= qless(es-time(es; e); (es-time(es; es-sender(es; €)) + del))))
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